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It should have read, ‘with meat and liquid® — ;9% "w2°% Ppw2y wa Yy

OVERVIEW

The X713 rejected the answer that when the mwn stated 7RIV 2R3 XHLIY W2IT Y,
it meant that there was w2 >772 pwn (and that is how the 8?07 7712 RNLVIY W2
attains a more severe level of X»), for if that is the case, the 71wn should have
stated IRMVIT 2R WNVIW PPWM W32 ay. Our NBOIN explains why the X3 did not
ask another question on the vw» that there was w2 >772 Ppwn.

mooIn asks;
- 7513 23W) PURIL 1PN ANMIVN AN RNDIY NIVIN INN 7599 NY ININ TINN ON)

And of you will say;’ why did not the x7»3 ask; if we are discussing that the w2
TRMILIT T2 RAVIY is attaining a more severe level of nXMY by touching the (w2)
NIV AR WNVIY 7Pwn), why teach us in the 71wn that the pwn w2 became
NXn»w through contact with an IR™WT 2R, even if the Ppwn (Aw2) became Xnv
though contact with a *121 1K there is also the same w1n.*

Moo proves that this is a valid question:’

! One of the M of the 127 7" (see 2,3 Nw and later in this nMoow) is that any 78m10 which is 77170 %01 (even a
TNMILY ") when it touches 1pwn, the Tpwn becomes a IRMILY WRA (instead of a *w>w) and whatever food the pwn
touches becomes a 7RMY? "W
? According to the X"21 and the *" of the previous X2°X7 "7 MOW, who maintain that 7pw» can be XN™MNRTA Xnw
even N°¥°271 M3, there is no question, since the 7Iwn is teaching a greater Y171 that they allowed the *w*5w w1 to
become a Xn»7IRTA 1w, however according to M0 proposed question it will only become a 112772 "1w, since the
PPwn are a WX only 112771 (see footnote #1). The question of NvOIN is only according to the "7 who maintains
that 0°InX XYY 1PPWn N is only 132777, therefore NdOIN asks that the X3 could have asked why mention R0
XMV AXD; since the 7pwn is only 712771 X, the 71wn could have said "1w1a wnwIw which is also 112777 Xnon.
? Moo perhaps assumes that the s'S s question is merely regarding an omission of a word (PpwnY), while Moo
proposed question is on the entire concept, why only X207 2X2 X101, even 1“1 TIWRI2.
* The 7Pwm (Ww32) touched (even) a axmv? *1w, which makes the 1pwn a R (see footnote # 1), and nevertheless
they burnt it together with a *w"5w, even though the *w5w w2 will now become a *1 through contact with this mpwn.
This question of nvoN cannot follow the last answer in the previous 83°X7 7"7 MooIn that the w32 became a *w>Hw
through 7pwn and the m1wn was before the 7127 "> M1 (for the question of M»doIN is based on the 727 1" N7 1A that
Pwn become a WXM), but rather NvoIN is asking according to the previous answer there that the 7w2a became a
"W through the 711271 0°%Y, so our mIwn can be discussing after the 127 1"> M.
° The intent of the 73wn is to teach us that once an item was Xab we are not concerned to be Xnun it with a more
severe level of nxmv. Seemingly even if we maintain that 7pwn become a WX (even from a °1w), nevertheless 1pwn
which became a Xn»7IXT1 WX through contact with an Xm0 28 will be ‘more’ X»v than 1pwn which are a TwR"
112772, Therefore it would seem that the 7wn wants to tell us the greater w17°n that they burnt the *w°%w even with a
RN™IRTA WK 7pwn (even though it will be Xnvn the *w 5w only 13127177 [see footnote # 2]). What therefore is n1901n
question that the 73wn should state that you can burn 22w even with a 11277 w&1?! Therefore Mo proves that it
is a valid question since the X713 later asks this very same question on ¥". See w71 7K.
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- N2PY 229 9Y *ypY 129919
As the X771 asks later on ¥''" this very same question.

nvoIN answers:
- "N 15 DOIVNY ¥IYN DN DY DN NP NIPIN 2297 DIUN 9D YN

And one can say; since 1''9 said; ‘from the days of the 2°772°, this indicates

that it was always soj; that they burnt the *v°>w with the Twx" -
= 9NN NN PPWN RNVN NIMINN HDIDN DT IINT 937 N ONP 9N

Even before the m~°13 of the 927 n's, where the 73127 decreed that whatever

disqualifies 772190 is Ppwn X»wvn to become a WK, so in the earlier days it could not
be discussing that the Ppw»1 (Aw2) became Ry through a *1w, since the 7pwn would be a *wow.

mooIn proves that 72°10 NP2 PRWH Xnvn 191 20197 22 is one of the 127 1'™:
- PoWN INNVIY DY PYIND YDA (owr 3,1 91 NIYT KNP PI92T

For in the first pap of naw noon the X n) establishes the case of 727 1"> N

regarding food and utensils that became X»w through pwn, that the term ppwn
means -

- 055 nNN 0INAN PPYNI
1P which become Xnv because they came in contact with hands which were not
washed, those 1pwn are 132772 27991 PR RawH —

mooIn concludes his proof by responding to an anticipated difficulty:lo
k)] njﬂ:l WY PPWNN PUIY NMIND PIDID DI1T 1INV 29D
And since the 2°»o1 were ="13 that 297> are n o9, therefore the 0°7° make

® See on the '2 Tmy. The X3 proves that ¥"1 maintains that 7pwn can be 8nN»7IXTA 20K Xnwn, for if it is only 11277,
why was it necessary for ¥ to state that they burnt 2109 12w with a lamp that was Xm0 282 Xnv1 (and becomes an
TRMIVT X)), even if the lamp was a WX or a "1 the 2100 1w will become a WX and be 0°NX Xnvn since 20197 22
NWRI N2 PPwn Rnwn 700 DR, In both cases it is Xnvn only 132777,
7 See ‘Thinking it over’.
¥ The x7»3 there mentions that PPN WALIW 07931 192X are part of the 727 7™, The X3 explains regarding 198
that it cannot be in a case where they touched yaw2 wnviw 1pwn, for those 1pwn (which became a 1wi1) will be
Xnun the XN»MRTM PPN, but rather it is 2°7° nann WNVIY PPwn which are Xnv only 132777, There is a similar
discussion there concerning 0°72.
? The 021 were M3 (in the 727 1™) that generally 0> which were not washed with 0*7> n201 (have a 7 of a *1w,
and) are 7m0 How. If Ppwn touched 027, the 1pwn are PN Xnwvn.
10 Why was it necessary to make an additional 777°1 (from the 727 11"”) that 0°7> nann QX137 PPWH are Xnon, since there
was a 171 (from the 127 ") that 2>7° are 72170 %010, we therefore know that if 1pwn touched 2>71> (which are 5019
7270) the Ppwn will be PR XALA (since NWRI N1AY 7PWA RAVA 7107 IR 20197 92).
"' This means that the 7713 of TPwn WL 19K is identical with the 7713 of N> PPWR RALA AN DR Y01 93
onn. First the ooan were Tm that 2°7° are im0 Y019 and then they were 2N that 7217073 DX 90197 93 (including 0°7°)
are 712°nN DAY PPWn Xnun, so we have the result that (2°7° NanR) PPWNI WHLIY 1921R become Xnv (as a "1v).
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the y°pw» which they touch into a PwN.

SUMMARY

The rule of 7%mn N1 PPWH R AN DX D017 95 was instituted when they were
a3 the 127 1" . The statement of 2217197 130 1'"1 that 191 21770 YW onn, refers (also)
to a time which preceded the 727 11" mM7°13 therefore he could not say 7pwn1 w22
1WA WRAVIY.

THINKING IT OVER

It appears from M0 that the reason the mwn is discussing 727 1" N QTP 1S
because 1"on0 said 20170 YW o°nn, which indicates it was always their custom
(even before 127 n").'"? However, ¥"1 in the mwn also states 023773 Y@ Dnm (which
would also indicate [even] before 127 11"), but nevertheless the X713 asks'® on ¥"1
that 11 *3w1 WX 12908 (which is valid only after the 227 n")!"

2 See footnote # 7. However, it is not necessary to say that 71"on lived before the 127 ">
1 See footnote # 6.
¥ See "1 2" (TR K"

3

TosfosInEnglish.com



